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SECTION. A

Answer all queslions. Each question can es 7, nalk. (4xy,--2J

1. What do you nrean by an evenl ?

2 Slate hvo lypes oitheorelca d strjbulions.

3. Whal is degree oflreedom ?

4 Whal do you mean by varance ?

S|CTIO\ B

Answer any fo'rr qLr eslions Each qu eslion carries 1 mark (4x1 =4)

5 Slate the uses of Poisson dstrlbution

6. Define an independenl evenl

7 Whal do you mean by quanlitalive lechniques ?

8. What is lype eror ?

9. ll 2 coins are llipped, lind lhe probability ol gen fg tuo heads.
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Answerany six qlestons. Each q!eslon carries 3 marks.

11 Wile the prope'1es of no rmal d str bltion.

dce to show 5 or 6 ?

r8. Tlre ncome d slrbllon oi workers n a factory was tound to be
rnean Fs. 1.000 and standard devaton Bs. 100 There were
gelt nq above Bs. 1,200. How many persons were there in all ?

12 Whal are the limitations oi quantitative teclrn ques ?

1 3 Slate the dillerent .ules oi probability.

r4 G ve. P(A)=3/5 and P(B)= l/5 f nd P(A or B), rAandBaremullalyexclrsv€

I 5 The rnonlh y incomes ol I 000 employees are norma y distriblred arolnd a mean
of Rs 2,500 wih slanda.d devlation olFs.250. F nd the n!mberolernp oyeos
whose monthly ncome would b€ bexleen Fs 2,000 and 3.000

16 There are 4 men and 6 women on tlre city counc . lfone counc rnember is
se ected lor a commiltee al randorn how ke y s it lhat it is a woman ?

1 7. S x dice are llr rown 729 umes How r.any lim es do you expecl at east three

r fl flt I

(6.3=18)

SECT ON D

Answer any two qlestons. Each qleston canies 8 marks (218=16)

19 li lh e average mo.llr y incom€ ol 100 employees normally d str b uted s Rs. 900
wth a slandard dev alon of Bs. 60, what shou d be lowesi monlh y lncome oi
the 10 h ghest pad ernployees t

20. Two grcLrps 01 100 peope each were taken lor lesling the use of vaccine
1s persons contracted lhe disease oul ol the inoculaled persons, wlr e 25
coflracled the dlsease in the other group. Test lhe ellc ency or the vaccine
use ch sqLrare test at 5% leve ofsgnificance

21. 1000 arlces jrom a iactory were examined and iolnd lo be 3% d€iective
Among 1500 slm ar adices lrom a second faclory are iound to be of y 2%
deleclve. Can t reasonably be co'nc uded lhal the product ol lhe lirsl factory
s inleror to the second ?


